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CENTRAL QUESTIONS

1. How does someone who knows the basic but have very little coding
skills start with a text mining/analysis project?
1. About me: some quantitative background (college), trained as a historian (Ph.D.)

2. My constraints: self-taught some skills/literature but no systematic training

1. Took FreeCodeCamp Python class but haven’t gotten the certificate yet; Learned Cypher with Neo4j
resources but haven’t obtained the certificate yet

2. DH classes/workshops with Constellate, at Harvard etc.
3. What | know: basic terminologies, how to describe a goal /problem

4.  Difficulties: non-European source language, no equivalents of tools in the
previous presentations available yet

2. Change: the popularization of generative Als




ROAD MAP

Reading and Writing in the
Age of Generative Al

Enhancing Text Analysis
Services and Learning with
Al

Text Mining with the Help of
Al



EXPLAINING DIFFICULT TEXTS

Based on the passage provided, it appears that "colonial translation” refers to the process by

which a colonial system, such as the Japanese state
rewrites and represents social difference or heteroc
order to justify the necessity for its own rule and coi
process involves the suppression of the language a
the promotion of the colonizers' own language and «
of ideologies such as historicism and ethnocentrisn
and reinterpretation of the colonized people's histol
colonizers, often in a way that reinforces their own s
suggests that this strategy of control serves to obsc¢
process through which capitalist society and the na

as a form of "metaphysics” that presumes the existe

K

)

Great! Now what does the author mean by "historicisim™ and "ethnocentrism™?

According to the passage provided, historicism is an ideology that is linked to an
understanding of time in which all human societies, despite their historical differences and
diversities, follow the exact same linear path of progress. Ethnocentrism, on the other hand,
is an ideology linked to a spatial understanding in which people who share the same cultural
origins — language, history, religion, customs - form the nucleus of the community as a
specifically national community. Both of these ideologies are presented as having been
instrumental in allowing the Japanese state to justify its appropriation and rule of the
territory of Hokkaido, formerly inhabited by the Ainu people, by portraying the Ainu as an
"uncivilized" people in need of enlightenment and assimilation by the Japanese, who were
seen as a superior culture. The article suggests that these ideologies serve to obscure the
contingent and hazardous process through which capitalist society and the nation-state
were produced, and operate as a form of "metaphysics” that presumes the existence of

certain immutable forms.




EditorBotGPT

By & @keyaopan
e Following bot - 1

[I] Share bot

Hide prompt
dlliu uuupie-LIELK UIe alidwel W ernsule 1o ineew uie
requirements of the question. | will give you a paragraph |
wrote. In order to make it a better academic paper, please
list any grammatical mistakes and places that | can improve
in bullet points, and any suggestions in bullet points too.

Edit bot

that can impact how issues are resolved, such as the relationship
between a former colony and its former colonizer.

Here are some grammatical mistakes and places for improvement in
volir naraaranh-
Claude APP 3:59 PM

Here is my feedback in bullet points: e" could be

Ml l & } (&) Keact o ReEpy

eGrammar: nory" could

- Use "severing ties with a former colonizer are complex" or "the severance of
ties with a former colonizer is complex" for subject-verb agreement nith a more

e Areas for improvement:

. : . » . imples to
- Specify what kind of tensions (political, economic, social?) between the

former colony and colonizer

- Expand on the examples of causes of tensions (reparations, natural resource
exploitation, neocolonialism) with more details and examples

- Explain what "closure" means in this context and how the lack of it allows ~ [ten leads

old wounds to reemerge lonizers.
disputes
d
»Discuss how historical memory impacts the national identity and nave been
relationships with other nations listorical

eSuggestions:

ast traumas
nal

atriation of
»Analyze specific examples of former colonies and their struggles with 5

decolonization to strengthen your arguments ST

»Explain how unresolved issues from colonization can continue to shape
global power dynamics between former colonies and colonizers.

yDiscuss steps that can be taken to improve relationships and address
systemic issues stemming from colonization

»You may also want to touch on new forms of colonization and imperialism to
link with your topic of neocolonialism.




ENHANCING TEXT ANALYSIS LEARNING
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@ This code seems to be filtering a list of author metadata by selecting a maximum number of 0

metadata items per author and randomly sampling the selected metadata items.
EN H A N c I N G T Claude APP 4:04 PM ie code:

Sure, here is a step by step explanation of the code:

1ssigns the value of 10" to the variable
max_per_author = 10

# This line sets a maximum number of 10 entries per author.

We'll use our defaultdict to make a list

the maximum number of metadata items to select
appending each entry to the list for that aut
library to grab a sample for any that are too filtered_author_metadata = [] “: This line initializes an empty list called
# This initializes an empty list to hold the filtered metadata.

will store the filtered author metadata.

from collections import defaultdict for author in metadata_by_author: thox: “: This line starts a loop that iterates through
import random # This for loop iterates through each author in the metadata_by_author »>r", where “metadata_by_author" is presumably a
dictionary. adata as its values.

"y_metagata variapnle 1rom

# we' 11 make a list for each author
metadata_by_author = defaultdict(list)
for meta_dict in poetry_metadata:
metadata_by_author [meta_dict[  author’

if len(metadata_by_author[author]) > 10: thox]) > 10:: This line checks if the number of

# This if check sees if there are greater than 10 entries for the current author. ©F (metadata_by_author[author]") is greater than

filtered_author_metadata += random.sample(metadata_by_author[author],
-andom.sample(metadata_by_author[author],

# Iterate through each of the keys 0 max—per—aUthor) . 3
T o e N . . . f metadata items for the current author is greater than

# and add up to 10 poems to our filtered # If so, it takes a random sample of 10 entries and adds it to the

max_per_author = 10 S| e e e ple of “max_per_author" metadata items from the

filtered_author_metadata = [] - N m.sample " function, and appends them to the

for author in metadata_by_author: else:

if len(metadata_by_author[author]) >

£11terod author, metadata += randd filtered_author_metadata += metadata_by_author[author]

# If there are less than 10 entries for the current author, it adds all entries for

items for the current author is less than or equal to

else:
filtered_author_metadata += meta i
- - ; that author to the filtered list. letadata_by_author[author] : This line simply
print (“Length of original collection:”, 1 In summary, this code loops through metadata grouped by author, checks if atothe “filtered_author_metadata" list, since
print("Length of filtered collection:”, 1 any author has greater than 10 entries, and if so it takes a random sample of  refiltering.

10. Otherwise it keeps all entries for authors with less than 10. The end result

is a list filtered_author_metadata with a maximum of 10 entries per author. author_metadata’ list will contain the filtered author
m of “max_per_author™ metadata items per author,

randomly selected if there were more than *max_per_author" items.



make the following report into table:

STATISTICAL REPORTS OF MORBIDITY AND MORTALITY, STATES AND CITIES
OF THE UNITED STATES UNTABULATED.

ENHANCING TEXT ANALY SIS [y

122,931. Total number of deaths 292, including diphtheria 1, enteric
Programming Historian fever 4, scarlet fever 11, smallpox 2, and 49 from tuberculosis.

Quarter ended September 30, 1907. Total number of deaths 402,
including diphtheria 4, enteric fever 12, scarlet fever 2, smallpox 1,

for this table, the "total number of deaths" are consisted of deaths from different diseases.
These diseases can be found after the word "including” in the original text. After "total
number of deaths”, add columns that represent each of the diseases and get their number
from the original text

with $1$2%$39

EDITED BY and repeat a
Adam Crymble

Now similarl Estimated
‘ Location Population Tuberculosis

Replace ~(. Arizona 122,931 =

PUBLISHED | 2013-06-22  MODIFIED.

with $1$2%$34

Arizona




TEXT MINING AND
CORPUS BUILDING

Corpus building (with
copyright /user agreement
issues in mind): resources
through the library, corpus
builders in previous
presentations, OCR, scraping...

APls: e.g., governmental
archives, congress/parliament
records

1. My tentative research:
Japanese Diet records

2. Topic: the use of the term
“human rights” in the
parliament during the
Occupation Period (1945-52)




NO/LOW CODE TEXT-MINING WITH Al

ASSISTANCE

* According to the APl documentation given here (https://kokkai.ndl.go.jp/api.html), write a python code that
extracts (over 100) records with the search condition ‘any= A#&&from=1945-08-14&until=1952-04-28&

recordPacking=json'

* the documentation says that one request will return a maximum of 100 records. How do | change the code

to retrieve more than 100 records?

Sure, here is the Python code
from=1945-08-14&until=1952-|

Sure, here is how you can change the code to retrieve more than 100 records:

Python
Python
import requests

i) import reques

# Set the search conditi
Eegictncnale el # Set the sea
any': ' AfE', search_condit
'from': '1945-08-14"' ‘any': ']
'until': '1952-04-28 y
'recordPacking': 'json'

}

# Maoke the API request
response = requests.get('https://kokkai.ndl.go

terminal returns the error “line 21, in <module>
total records = records|['total']
KeyError: ‘total™

You are correct, the APl does not returna " total ™ key. Here is the corrected code:

Python

import reauests




TEXT ANALYSIS
TOOL: KH CODER ey - . -

il
.
D 8P o o sy
=
ey s
et S g o
e @ o O Bu
o bok)  werk) TR iy Gloce Ba B 7
. . e y o\ HEH E | o
Eet. . == | TR
UIIT-IN Japdnese 1ex | of o armETelS.C, O - i v
£o PN [ - e
° ° L 'f::. e B momet O =, foo m:
segmentation library and e Ry W
e PO agne
g Y v WM TS O O~ .
a 9, "
. ) ‘ £ S,
morpnological parser eld Faw =
et
and Chasen L ’
Viw:_ s snatotas ) cot] arw =033 ] Vi _coor_ =] can] sov| |
B °|1' . I 1_. f J - T e | = @ £ Cromstab Plots o |
UliT-1Nn solutions Ttor Japdanese - = -
‘Search Entry .
] wo BB rosfes  comi[ addomioptens| _semen e |5 i A MRS aR: W A
encoding problems/garbled texts Sk e a—
Resut 1 worms [ T B T BIEC G E BT T TeElsC B o1 £E 13 ;‘;:“"“
. when I saw Makthew startng o today . thought maybe he was gong tothe doctor's.* <n5> || ||\ Tword  [Pos | score| LT[ Rr[ L8[ La] 3 2] 1[R[ Re[ R Ras | = “
t she had received a severe mental olt . She thought in exclamation points . A boy | Marilla and Mat ﬂ as
<hS> --call-— </hS> ** Well , we 've been thinking about it for some time - all winter in fact , " re 1 Porcupine  ProperNoun 345 4 3 1 2 0 0 1 1 1 0 1 0 wamnon [ s e+ 01 000 o WEs oo occocnin Blle -
have talked it over off and on ever since . We thought we 'd get & boy . Matthew is getting up in yea 2 come Verb 2633 31002002100 porcent
“* Well , Marilla , 1l just tell you plain that I think you 're doing a mighty foolish thing —- o risky ti ‘
So no co e exce or forill  1'd have said for mercy 's sske not to think of such a thing , that 's what . = <hs> ——call- 3 school Noun 192 4:70:0: 120795 020070 500 0 oiona -3 o B+ CocEeRE e Ehs et e []®
her , which is doubtful . It ssems uncanny to. think of 8 child at Graen Gables somehow ; there ' dstange  Adj 1830 4 00000 0 3 100 ‘
ing at him . He may have been quite right in thinking 50 , for he was an odd-looking personage , wil
o L3 L L L L r;mx-vefmerewa:nosg\ofmum;r:exroughmewasmweuw.sonenednsnorsemmey 5 way Noun b i L B8 Gibert| WeMooss o o Miaonefieon 1
Cusfomlzqhon OT VISud |Zq1-|on N e with b n he i ot otk 7 You coukd g e e 2 300 010000y
from the bank , all white and lacy , make you think of ? " she asked .
Ings to find out sometime . Is 't it splendid to think  of all the things \
° fo keep up with her brisk mental processes he thought that he ** kir . . . .
rmssninstwn v This presentation is a tutorial on how to use KH Coder.
udaio o Sarbrem it e oo oo oo ok o Bk
rson 1 always imagine ne and aiways think of them so . 7}

‘mgladto think of getting hor

pemmreneezs el v KH Coder is a free software for quantitative content analysis or

I be exactly the same kind of a thrill. Do you think it can 7 There}

(Slmll(]l' to VO)’CI nt but Pt e s 1 ek i text mining. Itis also utilized for computational linguistics.

developed primqrily for sfeme = | ==| ¥ Details and downloads: http://khcoder.net/en
Japanese) 3 \_ o




T E X T P R E P R 0 c E S S this does split the cells with more than 4000 characters but it does not copy the text in all

other cells from the old row to the new split row. could you modify the code?

how do | do the following in excel: if a cell has text with more than
down to another row; copy all other cells to the new row; automat

@ Apologies for the mistake in my previous response. You are correct that the previous code 0

did not copy the other cells from the old row to the new split row. Here's the updated code
You can use Excel's built-in functions to split the text in a cell witt

characters to another row. Here's how you can do it that copies all the other cells from the old row to the new split row:
. Open your Excel file and select the sheet containing the data" O Copycode
. Click on the "Developer" tab in the ribbon, and then click on "\
Visual Basic editor. Splitlon K can you rewrite it to copy columns Bto P

3. Inthe editor, click on "Insert” and then select "Module" to inse

. Inthe new module, paste the following code:

mathematica Sure, here's the updated code that will copy columns B to P to the new split row:

t] Copy code

SplitLongText()
lastRow
i
3
Functions cell Range

detailed info on problems: Print| Save as cellValue

Close |
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FUTURE
POSSIBILITIES

»Next: Using Al to help analyze and
interpret graphs/text analysis results?

» Other possibilities: character Al,
improved authorship studies, fine-
tuned models for specific projects, etc.

»The role of the researcher and
teacher of text engagement?
» As interface of knowledge, along with
Al?

»Not to “replace”, but to do things
heretofore not achieved yet

What are a couple of meals | can make witl

Based on the items visible in the fridge, he

1) Yogurt parfait: Layer yogurt, strawberrie
jar. Top with honey or nuts for added textur
2) Carrot and hummus wrap: Spread humr
shredded carrots and any other desired ve;

Certainly! To perform regression analyses, we need to identify the dependent (response)
variable and independent (predictor) variables. Given the data, we could explore the
relationship between different factors, such as the number of deals, average deal value,

average equity per deal, and total equity invested.

Let's start by performing three linear regression analyses:

1. Regression Analysis 1: Exploring the relationship between the total amount of equity
invested (*Sum of Equity Invested (USD Mil) ') as the dependent variable and the
number of deals ("No. of Deals')asthe independent variable.

N

Regression Analysis 2: Exploring the relationship between the average deal value ("Avg
Deal Value (USD Mil) ') asthe dependent variable and the average equity per deal
(*Avg Equity Per Deal (USD Mil) ) as the independent variable.

3. Regression Analysis 3: Exploring the relationship between the average equity per
company ("Avg Equity Per Company (USD Mil) ) asthe dependent variable and the
number of companies ("No. of Companies ) as the independent variable.

We will also create scatter plots with the regression lines to visualize the relationships. Let's

proceed with these analyses.

Finished working Show work v

It seems that the data contains NaN (missing) values, which are causing an error when trying
to perform linear regression analyses. To address this issue, we need to remove or fill in any

missing values in the relevant columns before conducting the regression analyses.

Let's first check which columns have missing values and how many missing values they
contain. We will then remove rows with missing values and proceed with the regression

analyses.

Finished working Show work Vv

Regression Analysis: Sum of Equity Invested vs Number of Deals
R-squared: 0.7046
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